SA:

A8 H Z Al o

3 guel FE(MEASN/=8)
B ASINBT #2435 X2 ol dd)
S - B SRA(BA) - NS - BES ol 1- Eas
ALEI HE R 1t 13,335,464 10,527,802 2,807,662
= 1,971,000
Al 5,905,000
< 5,459,464
dxtel AE(MEEX/cS) 13,297,588 10,496,682 2,800,906
= 1,971,000
X 5,805,000
LS 5,421,588
ANEHBH 245 XA 13,297,588 10,496,682 2,800,906
= 1,971,000
X 5,905,000
LS 5,421,588
ANERBH |4 IR = 698,500 437,000 261,500
201 B2 3| 7,000 7,000 0
01 AFR 22|t 7,000 7,000 0
OMBIHZNEY =24 7,000
202 Of H 6,500 5,000 1,500
01 ol 6,500 5,000 1,500
OAMSXRZBH |4 6,500
307 Qiztold 655,000 335,000 320,000
02 IZHAMAHEE 485,000 335,000 150,000
OAMESHBM HESHID B3 27,000
OWUMEZS A8 'R 29 60,000
OO0t AMHEH 'OtS2I0it'2d 25,000
OAEFEM =218 s0tg A 23,000
OAMSHZHIIY 4BHHE ASE 2LE 70,000
OAMEHZM HAHcH EH 2 100,000
OABIHBH EE38 SIXA Z2HE 100,000
OABIHZH AEDIY SE(MYUHEY XY) 40,000
OBERNA SEEFUH X3 40,000
05 2SS 170,000 0 170,000
OAMIRNBHME 4& BHHY ML 170,000
308 XXM SOIA 30,000 30,000 0
01 IXESHMBLEZES 30,000 30,000 0
QJlsJ1etE MBINBHIIY |4 30,000
MNIHBRNZ=H 845 FA 815,000 801,000 14,000
307 2Iztol & 815,000 801,000 14,000
05 2SS 815,000 801,000 14,000
OAMSXHBMARALE 29 765,000
OMEBIHZT LAMWSLHUE 22 50,000
SHS2W MSNIN B0 2o 35,000 270,000 £235,000
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SA:

=

£9l:

ALSI H T ot
it EE(MSEX/cS)
ASHBH 243 K&

SH-ZH - BH(E) - NRAY - BES o o l G J e}
202 O 5,000 0 5,000
01 SLHOIHI 5,000 0 5,000
OSHESHI MIHFN d4E522F 5,000
307 2i2t0| A 30,000 90,000 260,000
02 QIZHE MM E X 30,000 90,000 260,000
OMIHZN E20HE g 28 30,000
HRUEIHI =LA 245 XML (IHEEINL) 265,710 0 265,710
307 2i2t01 A 265,710 0 265,710
02 QIZHAAMMNHEE 265,710 0 265,710
OHRUEHIZ=UA 848 K& 265,710
ABIEDIY SH(2R2EE)(21) 5,296,000 4,663,467 632,533
Xl 4,965,000
< 331,000
308 At XISHHSOIH 5,296,000 4,663,467 632,533
Xl 4,965,000
== 331,000
Ol IXSHBAEEZS 5,296,000 4,663,467 632,533
ogXel &MY 5,296,000
Xl 4,965,000
= 331,000
MBI DY SH(AIHIZEHI)(=2D) 2,041,142 1,764,572 276,570
= 1,786,000
= 255,142
308 XtXISHSO0IE 2,041,142 1,764,572 276,570
= 1,786,000
== 255,142
01 XM BAEES 2,041,142 1,764,572 276,570
OArIHEH| XIJ A 2,041,142
= 1,786,000
o= 255,142
ABIEIY SH(MPNEH-XISESH)(=22) 221,000 194,000 27,000
= 185,000
= 36,000
307 2i2t0l A 120,000 100,000 20,000
= 84,000
= 36,000
02 QIZHEMMHEE 120,000 100,000 20,000
OXIESsAI (BS) 120,000
= 84,000
= 36,000
308 A XIHHE0IH 101,000 94,000 7,000
= 101,000
01 AXSHHBAEES 101,000 94,000 7,000
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el

DOASI EZH

dxiel FE(MISX/=S)
ANEEZH 43t K3

BN EHH.G(5) - NEAY - BHAS Ol Aty A HRS2
B T ONSESAS (1) 7 ~ 101,000 - '
= 101,000
MNEEIYE B4 (AZEER)(Z21) 502,857 457,143 45,714
Xl 440,000
L= 62,857
308 AXHMSOIA 502,857 457,143 45,714
Xl 440,000
== 62,857
01 X HIAEEZ 502,857 457,143 45,714
OMEIBEEE K& 502,857
Xl 440,000
T 62,857
AMEEDIYE B4 165,000 134,700 30,300
201 B2 10,000 10,000 0
01 At 22|l 10,000 10,000 0
OASEDI|IY 2Y 2 88 F& 10,000
202 o Hl 5,000 4,700 300
01 SLHA Y] 5,000 4,700 300
OASEIIY =4 5,000
403 IXISHMSAH=201E 150,000 120,000 30,000
01 AXSHAEE X 150,000 120,000 30,000
OAMEIHEIIY AAH XA 120,000
O+ AMIFZHM =01 XA 30,000
02219 84(=31) 390,000 500,500 A 110,500
X 300,000
== 90,000
308 MUXIEHXMSOIE 390,000 500,500 A 110,500
Xi 300,000
== 90,000
01 AXIEHBAEXZ 390,000 500,500 A 110,500
o021 |4 (AR) 273,000
Xl 210,000
== 63,000
onrEJ1ed S4(MXH) 117,000
Xl 90,000
== 27,000
o201 84 175,000 74,000 101,000
201 £Bt2HH| 10,000 10,000 0
01 At 22| H| 10,000 10,000 0
OuE221e dF & Ar:2el 10,000
202 o4 H| 5,000 4,000 1,000
01 S LAY 5,000 4,000 1,000
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BEA: AR EZ R D
o Axel EAS(MIEX/S)

R A EFN 48 K& (ete: &)
EREmE ; 2 P — '
 RA - G(E) - AR - B o & o4 S nnsz |
onSJ1gy 8& E AF2e 5,000
308 AAXIEHSOIA 160,000 60,000 100,000
01 IXEHHBMERS 160,000 60,000 100,000
OZE T odioS2Ig 84 60,000
o2y u&ks 100,000
D201y 248 S N} (XNE)N(=2) 400,000 294,000 106,000
Xl 200,000 :
= 200,000
307 212t01 A 400,000 294,000 106,000
Xl 200,000
T 200,000
02 QA MMHPEE 400,000 294,000 106,000
onsJlg sd HLE § X 400,000
Xl 200,000
& 200,000
BSXE gdst N 24,300 42,300 A18,000
201 B2 5,600 5,600 0
01 At22t2iH 5,600 5,600 0
OESxE H48XNE ¢ gF 5,600
202 o4l 2,700 2,700 0
01 SLHOIHI 2,700 2,700 0
OBSxE Jlgt =5 2,700
307 g12to1 ™ 16,000 34,000 A18,000
02 QI MAMHEE 16,000 34,000 218,000
ozl ESXE HLE =2 16,000
ANSFH g4 olg3a=s 2,268,079 864,000 1,404,079
201 Er2gH| 2,195,400 358,000 1,837,400
01 At22-2(H 2,125,400 358,000 1,767,400
odEZ2 M % B2 & 2,125,400
02 32 20,000 0 20,000
O&EA SHOX 1xs ¥ |FRXES 20,000
03 A2 &I 50,000 0 50,000
o4ZALEH0 29 50,000
202 OiHl 15,000 6,000 9,000
01 =W 0dbI 15,000 6,000 9,000
odEd 88 Fd 15,000
207 A 2K 50,000 0 50,000
02 & &b I 50,000 0 50,000
O&ZEA HAZACIAAE D& 50,000
301 Bt as 7,679 500,000 492,321

- 317 -



S AEEZH L
F: guel HE(MIEX/S)

9 ABXTR 2A3 XE (el @
SH - HB - SR(S) - NRAY - B - Ollaroy L oGhe | oumew

N EL e i 7,679 ol 7.69]
oMs=ReABAS (1) 7,679

BES A (A HAH D) OIE/IIE) ’ 37,876 31,120 6,756

Jl2gl 37,876 31,120 6,756

242 2L (MSEZH D) 37,876 31,120 6,756

201 2t 24,676 19,720 4,956

01 At 22|l 24,676 19,720 4,956
oMY ARl 24,676

202 01| 10,200 8,400 1,800

ETTT] 10,200 8,400 1,800
22 2UhoiH 10,200

203 22T 3,000 3,000 0

EVEEEEE T 3,000 3,000 0
o150l 015t 250,0008! 122 3,000
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